Accel. Geometry
Solving Quadratics Practice

Solve each equation by taking square roots, factoring, using the quadratic formula, or com

the square.
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4, 2x2+x=5
2x*+ X -5 =0

v = -l =12 u(a)-8) '

2(zY

[x'; - * JH ]
18

6. x?—11x+19=-5
x*~llx + 24 = O
(x-8 Y%x-3)=0O

8 x2—x=5x-9
Xx*_ bx+Q = O

(x -3 Y(X-3)= 0O
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1. S(b-8)2 =7 x
4 , 21y
Jlo-e¥-fz

b-2 =27
W: g+l

13. 5r% —44r + 120 = =30 + 117
5r-55c + 150 = O

S5(c*-llr + 20) = 0
-8 Jr-4i=p
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15. b2+2b=-—20
b*+ QL+ Q0 = O
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17. x2 - 18x = -32
x*-1gx +32 = O

(x-VoYx-2a)=0
X1 f=2

19. a?+2a-3=0
(our S =] =0

21. 2(x—3)?=8
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12, 6n2—18n—18=6
bn® -1gn- 24 = O
b(n’-3n-4)=0
e { =% L& =0

14. n?—4n=2n+35
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18. 1252 -5s=2
122s*~-6s -9 =0
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